Investigating a Tovie Contract e /4/ Wﬁf

Suzette Starlet is a popular movie star. One major studio was so anxious to get her to sign a contract with them,&hat they
offered her a choice of three salary options. You are her agent and, as such, you earn a percentage of her income from
each deal that you help her sign. It is your job to determine which contract would be the best to accept.

Option A: $20 for the first day of work, but overall earnings double for each additional full day of work.
This means that she will make ... $20 for a1 day contract ’I)LZ
$40 for a 2 day contract —Q X1
$80 for a 3 day contract, etc?

Option B: Two cents for the first day of work, but overall earnings triple for each additional full day of work.
This means that she will make ... $0.02 for a1 day contract
$0.06 for a 2 day contract 2
$0.18 for a 3 day contract, etc. Q )6

Option C: A flat rate of $100,000 per day for as many full days as the movie is being shot.
This means that she will make ... $100,000 for a 1 day contract ),prpa
$200,000 for a 2 day contract

$300,000 for a 3 day contract, eté& + loa e
1. Without analyzing the options, which option would you instinctively choose?
2. Fillin the table for each option and sketch a graph for each sequence below.
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3. What do you notlce about the shape of the data? What does thIS indicate about the rate of change of the data points?

The dato. s cunved, shid~ means+had He ratk o éanJ rof-co/iant™

4. Write a function for eacb Optl% ’ZU"' /L \ U?f‘ 6
Option A: OQ lo 2 Option B: '(:QQ) ISO 6 Option C: _H)Q:'. [W/ OOO X
5. What would the earnings be under each option if the movie took 23 days to shoot?

Option A: Q 6%}%86} 060 Option B:ﬁ éﬁ(}{@%} (q Z 20 Option C: g 2[ 30'“)/ OOD

6. After further investigation, which contract would you recommend that Suzette accept and why?
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